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SA:

9|3 AFS 1t

M Ngogl 2 K&
ool XgolEey (Sr9l: &)
A - B O9(3H) - NIRAR - BaS Ol &b e e
0 S| E/SAt ZAHH 100,000&x123] 1,200
0 23l9 U 9zI2iE 22T
300,000&*12& 3,600
0 =219 & 2AARAZ| 2|2=0I4H
250, 0002+3 71| 21x43] 3,000
0 AHEE JISRER ATHE
330&*7,000& 2,310
0 Q3= &= M 5,000& *60004 3,000
2AZ BAIR B L LU
50,0008+ 123 600
0 DEETREH2 U FXE
60,0002 «2CH* 123 1,440
0 23 2238 +¥ 1,000, 000&*33] 3,000
0 23tz =28 SFME 1,500,000 1,500
0 23 S0/oter HI& 1,0000H*1,200& 1,200
0 dERI24 23| 300,000&*12& 3,600
0 =E22S €82 100, 000&*83| 800
0 QIAHS A 30,0002 *102!x33] 900
0 23tE EEE JIES ¢
5,000& *2,000J4 10,000
0 o3 BnE 30,000, 00024 30,000
0 93l Blo= TRIY |XPS
280,000&*12& 3,360
MM A SRS 320,000&*12& 3,840
o= 200,000&*12& 2,400
O A&t =] 24,000
0 olg oFoI4 PSS
800,000&*1021+23] 16,000
0 XY oFois SIS
800,000&*52!x23] 8,000
O 2= 10,840
0 22 B0 HoloRLL
70,0002 *321%43| 840
0 ZaEARIRSE 100,000& x521+20&d 10,000
O SI(ANLYYRET)
7,000+ 1221704 5,880
02 3524l 43,860 45,760 A1,900
O 3322 2 MAl 15,040
0 Nate= 80,0002 «1CH*12& 960
0 ASAE 23 50,0002 *1CH* 123 600
0 EMNEDIRE 900,000&*12& 10,800
0 &ot=ER= 50,0002 *12& 600
0 MI|otE 2| THE =2 90,0002 *12& 1,080
0 XtHEEZ 500,000 *2CH 1,000
O Azl 4,420




SAM: SlalArR
I XY 249 A
ool XgolEey (Srl: &)
SA - B - S9I(E) - RAY - BaS ol b HIDZS2
HEAZ(ER) 1,900 1,800 ¢ 3,420
0 dHeII=AX 1,000,000 1,000
O AI2&HI= A 2,500
0 A=Al 2,000,000& 2,000
0 2EEHl =Al2el 500,000 500
O Xgdeiy| 21,900
0 SE(RZR) 1,9002+5,000 ¢ 9,500
0 SEH3R) 1,900 4,000 ¢ 7,600
0 XM=l 200,000 =20 =122 4,800
03 A= 5,000 15,000 A10,000
O KNOHZHRRIEH S A 5,000,000& 5,000
202 04| 51,800 48,300 3,500
01 =LH04HI 30,800 30,800 0
O ofHI(2aD|=gRa)
200,000 % 12¢1%12& 28,800
O ofbi(2g sggs+d)
100,000& x2E*102] 2,000
04 =HI=t0ib| 21,000 17,500 3,500
HATDRO|OIA U L3
3,000,000 5812 15,000
O dgAzZdHEe =2 A2l XA
o 2= 3,000,000&*2¢21 6,000
203 =8| 10,000 10,000 0
03 A =S R =N 10,000 10,000 0
O U ARSRILI BB S I 24T
6,000,000& 6,000
O H2AHEES 4,000,000& 4,000
405 KHeHFSHI 4,000 0 4,000
02 =X 4,000 0 4,000
O E8F A=A+ 100,000 402 4,000
S|gEse dEst 527,570 529,770 A2,200
oldgs dE2d Hat 527,570 529,770 A2,200
205 2J2/H| 527,570 529,770 A2,200
01 23gs| 132,000 132,000 0
O X2z ojd&=t|
1,100,000&*1021%122 132,000
02 gd=¢ 185,400 185,400 0
O Xgels g8+ 1,545,0003%1021%122 185,400
03 S|E=LH0iHI 36,000 36,000 0
O cggsigsg 50,0002 *1021%242] 12,000
O S|2M0ILA=E4 400,000 *1021%22] 8,000
O FEA-gl| 400,0003*1021%42] 16,000
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SA: SSIASR

. o3 29 X3
ol oHEEo M3 (Srel: &)
SN - FH . S(31) - NBAR - BAS Ol b e TimE=S)
04 2| =204t 26,000 26,000 0
O o3 2,000,000& *102! 20,000
O XHHZAH WSSHAF =4 20,000, 0003 *30% 6,000
05 E3E2gsSZI 57,000 57,000 0
O X3 2d&| 4,800,000& *102! 48,000
O HAEMSERASE| 1,000, 0002992l 9,000
06 23 2Y AR =& 70,770 70,770 0
O 2% 2,310,000& 12 27,720
O 2o 1,150,000 x12& 13,800
O MRS 750,000 %3021%x12& 27,000
O HZERIE 750,000 %121%33] 2,250
07 JECEOANRE 2 6,000 8,200 A2,200
O E=AZFR2AFEREZ2 6,000,000& 6,000
08 SIA=RDIAZREZ 7,200 7,200 0
O 2A=R0AIREZ 600,000 128 7,200
09 QIRARDIAHUREZ 7,200 7,200 0
O oA=R0AHUBHZ 600,000 x 128 7,200




